
www.bellsofsteel.com   |   www.bellsofsteel.us   |   Telephone: 1-888-718-7997

BELLSOFSTEEL Stuck? Scan the QR code for the assembly video

PLATE LOADED

PO:
SKU: SS-FCT



If you are missing any parts, or otherwise have any 

warranty claim on our website.
Before discarding the box, please take clear photos of 
the box and shipping labels, as these may be required 
if parts are missing or the item is damaged.

Let us know how
we’ve done

Customer Notice

Love it? Leave a review! Hate it?  
We still read it. Help us get better 
by reviewing our products.

Changed your mind? No sweat.  
30-day refund guarantee:

bellsofsteel.com/policies/refund-policy

Crush your Gains! Subscribe to our 
YouTube for workouts & how-to’s.

@BELLSOFSTEEL

Welcome to Bells of Steel, you’ve made an excellent choice. 
 

Kaevon Khoozani

Warranty & returns? We got  
you covered—check here:

bellsofsteel.com/pages/warranty



 
 

 

LET THE GAINZ BEGIN

A GUIDE TO SAFETY

1

2

3

4

5

6

7

8

9

10

11

12

13

14

15

16

17

BEFORE WE BEGIN, 
LET’S STAY SAFE.



PARTS LIST
• Hardware Package

• Preassembled



PARTS LIST



PARTS LIST



TOOLS REQUIRED

ASSEMBLY

4mm
Allen key

x1
19mm

Box wrench (X2)
17mm

Box wrench (X2)

You can use an impact /
socket wrench but not  
required.

PRO TIPS:



ASSEMBLY

10123

Fix the rod (39) using M10 x  
20mm bolt (7) and M10 washer  
(12). Add (26), (36) and (27) .

3 M10 x 80 bolt (3), M10 washer 
(12), and M10 nut (10).

4

50

26

7

12

36

27

38



ASSEMBLY



ASSEMBLY

bolt (5), M10 washer (12), and M10 nut (10)  
and M10 x 20 (7) set with M10 washer(12).

6

10125

5

1277

Slide in pre-assembled (42) .

Move (42) down 
by unlocking 
(16) and locking 
it in when 
reaching the 
selected hole.

42

42



ASSEMBLY



ASSEMBLY



ASSEMBLY



ASSEMBLY



ASSEMBLY



ASSEMBLY



ASSEMBLY



ASSEMBLY



ASSEMBLY



ASSEMBLY



ASSEMBLY



ASSEMBLY



ASSEMBLY



WANT TO LEARN MORE ABOUT THE PLATE LOADED

Corporate Headquarters 7880 66 St SE, Calgary, AB, Canada
U.S.A. Headquarters 5925 W 71st St, Indianapolis, IN, U.S.A.

Toronto Store 39 Haist Ave # 2, Woodbridge, ON, Canada

support@bellsofsteel.com | 1-888-718-7997

 

Calgary - HQ Toronto - Showroom Indianapolis - Showroom


